APREKINI

I,:=0.9 Al := 0.025

l:= 15

l3:= 2.3

|4 =30

|5 =3.9
|6 =5

Sitematiskas kludas

pg:= 1.96

r:=0.18

SM:=1~10

n:=3

lo = 1.2566 - 10~

6

By
Ap = ?-tpﬁ-deg

Awp = 1.307 - deg

Ap
P3

-100 € =2.178

Mo-Nn-ly

2-r- tan(apl)

Mo-Nn-lp

2-r- tan(apz)

Mo-Nn-l3

2-r- tan(ap3)

Mo-N-ly

2-r- tan(ap4)

Mo-Nn-ls

2-r- tan(aps)

Mo-Nn-lg

2-r- tan(ape)

3, := 0.005

fg:= 1.96
Are
r=—-r
s
-3
Ar = 3.267 x 10
5

Bop = 1.397 x 10

Byp = 1465 x 10 °

Bys = 1391 x 10 °

Bos = 1465 x 10 °

Bos = 1406 x 10 °

Bos = 1.452 x 10

5

P1

P2

P3

P4

P5

Pe

= 34deg  d,:=2
:= 47deg
:= 60deg
:= 65deg

:= 71deg

:= 74.5deg



By:= 1391 x 10 °

Parciala kluda

Bo| .

- d_l3 2-r- tan(up3)

el Al .
d (Mo—sj ABy = 1.51145489 x 10

Ag, . d Mo-N-l3- Ap .
00 = yon ABg, = -7.324 x 10

dps\ 21+ tan(apg)
d Ho-N- |3 - Ar
ABy = —(— 5
dr\ 27 tan(ps) ABg, = —2.524 x 10
ABO = \/ABO|2 + ABO@Z + ABOrZ
ABg
€= — €=5674-%
Bo
Rezultats:
_ -5 -7 . _
B= 113-10 * 6.265-10 pie 3 =0.95

7

ABy=7.892 x 10

€=5674-%

7



